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L.

The follmvihﬂ are fumti‘m 5 ofthc nose as’

partof the brc,dthma bystun EXCEPT one.
Which onc? ~

A. Cleaning theair

B. Trapping the dust -

€. Moistening the air

D. Cooling the body

The following are characteristics of di Merent
types of teeth:

{i) . Starp and péinted”
(ii) - Chisel shaped

fiii) Has.two roots

(iv) Has three rools
Which ane of the following gives the

/

CORRLECT namés of cach of the above

described tooth?

TR T v -t

Which one of the following types of
immunisable diseases is INC ()RRFCTLY"

matched with its vaccine?

Discase Vaecine
A. Tuberculosis BCG
B. Tetanus DPT
- C. Whooping cough  BCG
D, Diptheria DPT

Whichb one of the
NOT ause ot heat encrgy? *
A. Washing

R Devin K

L2 AN Yalngy
C. lroning
D. Cooking

A, lnusnr canine | malar prel{m!ar
B Canie] o] i, - L}
€. Canine] incisor | premolar) molar
D, !nusnr camine | premolar| molar

t'ollowing is’

.. Yhe diagram below represents a set- up that
can be used to demonstrate a certajn dspcct
of huat tmn:fgr thmu;,h |mdm ‘

S

74-Made
of wood

——Wooden
stand .

N
Wooden -
base

After leaving the experiment for a few
minutes, whichone of'the 1nllowmg, pms will «
-drop: LAS l k4 : :

AP X

B Pigies

C. Wiz S

D, None = 1 "1 i

Straight fertifizers contain each of the
following macro nutrients L\Cl PT

A. ammonit m

B. nitrogen

o phq:,phomus

D.. polassium

' Wlmhom, of'the loll()wmg statements about
digestion is N()l cofrect? . ETY

A. The process of du'u;txon ot lood starts
in the mouth and ulds in the smali
intestines. ;

BB. Digestionsystem Starts inthe mouth and f
“ends in the anus. ;

. ‘Water and'mineral Salts drc rn.lbsurbcd .
in the {arpe mteshms

D. Digested food is not absorbed in the
smallintestines.

Plants do- NOT dcpmd onothe: pluml for’

A, xupporl
B. shadc

- C. habitat

D tood. =




10.

% (’)
(i) Fibre has no nurmwe value:
(iii) Llibre helps in ege.stwn

1.

£ 54

g

.

~Whichoncol mc1blfoﬂimg»@ti\ii-til:s cannot
* lead to water pelluhon '
~Controleduse offarm: dl&mlutf“ . ]

A
[ &]
1,

C.

n '\An -\“c\uc ‘:\\

unu.) )\, J

A mm‘tls dr mlxmg,and diiq.atﬂxg, in the
'n\cx \Ml&.r :

The l'ollowihg statements abbut fibre in the
human body are true EXCEPT one. .
Iibre is digested by the body -

(iv) iz zbre pre remi wnmpmlun
Which onc’ g
A Al el g

B
-C.
D.

B W S e

e

The following are characteristics of a certain

animal: A

(i) Gives: hzrliz (o a living young onge

m) Body iemperature does not vary from:
time (o time-or place to pluce

(iii) I'eeds their young ones on I)li//\

The animal described is likely to be

A. anostrich - o

B. awhale

C. aspiny muaw

a shark

Which one of the following measures can
he the - MOST appropriate: forr use in -

% i a9 % i, o~
‘controtling pests like birds ona maize farm?

A,
B.
£

Trapping them
Weeding the farm -
Scaring theny away
Spraying the ¢rops

2 S

iae.s

“13.

‘14.1’

N

frd

‘ ,l
The chart below shows different parts of air
as found in the atmosphere.

: Whlch pdn of thx. airas shmm W XY

CandZ upxc%mtspan of the air Lhat Lan.

be used topreserve soft dr'nks >
A :

B, .Y -
- oo%
D w,

of abusing drugs? -
A. Addiction-
B, Rape
- C.'Traancy . :
- 1. Mantal contlict ~ .

The illustation below represents a
classificaiion tible on plants.
: !‘ ~— Flowering

——Gré ej
’ ARSI 1 P,

NGt RIS

m.g J‘y

uon—g:ee:n

Which one ofthe fellowing will not belong
to the group of plants labeiled X in the table?

[ 7t

M R YpPrens.
3L Cuchus
¢ Tem

1. Moss

Which one o{ the follomn-! isa hmlth effect - -



1 6. The following are signs aud symptomsofa
- certdin nutritional deficicncy dxsezm
(i) - ELasily gets out u[ brzath
(ii) - Pale skin
(iii) Fe elmg dizzy

A child showing the abdve is also LIKF LY

to have

A. bowedlef,:. v L
B. whitish cyes, palmsand fi ngemaﬂs
C. apot belly g

B browmshhalr

17.
magnetic?
A, Aluminium
B. Steel
C. Iron

D €obalt +

18. Empty medicine containers should be
A. used to store other food stutts
B. locked up in safe cupboards
C. thrown (o open heldq away fmm
homes ° -

D. buried under the sml

X h

Which one of the fbﬂow ing matenals is non-

4

19. Which one of the fullovvmg palrs of internal

livestock paraqltes attacks the 5mall
intestines?

A. Tapeworms and lungworms

B. Liverflukeand hookworms

C. Roundworms and lungworms

D Roundworms and huukworms .

- 20. Which one of the followmg bﬁdy Ilulds ,'
~ cannot transmit HIV?
A, Semen and vaginal sccretions
B. Urine and sweat
C. Sahva and tears
" D. Breast milk and blood
21, The lliustmtwn below shows the dxagmm of

a flower.

£
o

Whlch oneol 'thb abovc named pdrts P Q R' i

and S reprebems amale and female part of

~the flower rcspucuvdy” 3
A - QandS
- B:-PandR
C. RandS -
D Pand Q-

-

_22 “The following are p;,y\,tal signs wptmmed e

. by adolescents, Which ene is N()'l ?
A Gmwthofbcards L

- B. Broadening of lups :

C. Attraction to-opposite sex

D Pimples on thé fage: e

e | 2:3‘. The M()b'f appr()pﬂdl(. wa) of conuollmg

both internal and cxtemal hvestock parasxtes
. shouldbe X oy TGRS

“A. dipping RIS
 C. rotationat grazing. -

S 24iarmem apply muibhmmtyto !

A. prevent weeds from growing
B. improve soil fertility
-C. conserve water in thé soil
). prevent soil from 'erusion
Whlk on ﬂtelr iny c.st!gatwn about soil. -
 staridard five pupils coliected fresh garden
- s0il, put in-a bottle mixed with water and
lefi it to settle after shakmg well.* Then they
‘realised ‘that the contents settled in an
organised manner depc ndmg on their
Aeoweight. - o LR skt
- B. material
C: AdénSi{y RS :
D.size '73".;"” '

S L TPy

12

2 6 The MObTeﬁecnu wa of prcventmg HIV_'_'

and AID's among marri¢ d Louples is by
A. abstaining :
B. x‘bemomlt_u]
- C.using contraceptives
D gettingtested -




27

abw>

28.

“area is usually rf:femcd to as

Fhe dcgree of hotncss o celdnesz, ef a grvea,,«

)

mvxronment
climate
tcmperature
3 weaﬂ}er : L2 s A I
o Cobmd l N
; e R :

‘The dlagmm belmshowsaa d}ustranon 0{' 5 o
PRt 3%

- ahuman hc..an

~ Which one of the folowing show parts

thmugh which blood leaving and emmnglhe

* - body use respectively?
A. Wand U
B UsadW: > - -olea
R XandV o
.D. VandU :

29,

30.

Wlmh one of the tollowmg showx a irst of . N

xllcgal drugs ONLY inKenya? . St

. Khat, bhdng mandrax
B. Alcohol. tobacco, khat
C. Mandrax, cocaine, bhang =
D. Tobacco; ghue, aleshel = 7T TR
Which one of the following materials will not
bc necessary when constmctmg, an air-

“thermometer?

A, Asmall plastic bottle

B. Alcugc. plastic bottle Aol e

C. A funnel
D. Ascalc ]

Which engof the. followmg uses of wateris
practised on the farm? =
A. Washing machines., = .
B. Washing materials
C. “Transportation

{1
& :'.‘( )

4

* o

b 32.. Whtch oneof the: 10Hmwng :;xmple nmd‘:mes

has the position of the foad between the

fulcrumand theeffort? -

A. Spade

| - B Crowbar

34,

pﬁﬁwﬁw

C. Wheelbarrow -

- D. Claw hammer

Which one of the following products is
CORRECTLY matched with the farm
animal wherc it is obtained from?

Product = Farm ammals
W .Meat - sheep
Q Mohair cattle
Milk - donkey
Mugton - goals
W :
0
R
P

The toilowmg are (.ff‘ects caused by crop
pests
(1)
(ii)

Attacks the )o'erf' seedlmg
Sucks y plant sup on leaves and fiuits

(iii) - Bores holes on stalks

(iv)  Makes funnels on grains
Which one of the above effects can be

5 ‘_c’aused by field pests ONLY?
A (only

_B, {ii)and i)

-3,

C. (i), (il) and (iii)
D. (iv) only

Which one of the followm" 1S m exampk. of

% ;an omnivore? -
- A. Elephant

36.

+ B. Leopard
" C. Lizard A : ;

The following are m yths and misconceptions
about HIV/AIDs, Which one is NOT?
A. HIV and AIDs is a curse from God

e, ';rB AIDS and HiV carrlers are levd)’S

D. Washing clothes

“thin.

C. Notall HIV vu,tmls have AIDS

D.. AIDS does not exist

s STD 8 001 SCIENCE 2014



37,

38.

39.

40.

41,

‘Which One of the following is th
_effective preventive measure against the -
f sprcad of a%!»waierrbemecﬁseas'.cs?—-~ R ;

D. Ensuring proper hygienic st4ndard5 5.5

- following measures EXCEPT
.D “puton rubbx.r solc.s

A B 4 b
A Y l)ncsel s S
D. W md $oeentat 3 St i s

‘methods of separation of mw ures? ?

- B. Sugar and salt

~C. Fixing broken handies

Whichone ot the {oHowing is th e functjon. §.

e MOST|*

A Ciaaimne sinenont
< ¥ vl‘-ul ‘IK

B. Cuwrmgpﬂlalrmns g2 “
C. Boiling water before g

xxrontovw
2 L\i_‘,ll&t:!k Yruwe:

During thunderstorms and lightning, one. -
néeds to keep safe by observing the

_ A avoid putting on red garments - A
B avmd staying close to the comners and

wallof buildings . oot h E
(, avoid shcucnnb undcr trecs amﬂa}l
bmldmg.s i B

Wh:ch one of the follnwm{_ is a wm,wablc A
source of energy? - - ; ISR A

A: Perdl . - C el s }Qi i

(oal A e e e B L

Which ‘unc of the following mixtures
CANNO'T be separated by any of the

A. Saltand sand

C. Maize and beans
D. Ch JlL ust and iron fnllm,s

Which one of the lo!iuwmg is a \\ax of
Hldmldllﬂlli ail siinpie l(\ui\ A )
A. PKO})LL storage

B. Oiling imovable parts and blades

‘A

2. Sharpening cut{m-:vdgec

of ﬁk beamn balaace
A ] 1 v
iy, \lel 1t

B. mass

(.‘-. f(".'.'\.‘

T ISR R
i DTG

7 Measuring the

PE——

4'

43 Whleh onentrheIoﬂomugdclmuc wﬂl

NOT fead {o soil conser muon

A. Mule hmo : \

B. Conlour p‘owhmo

o Bigging across the slope.

D Plox,-g,hmg across lhc.\c(mloms

/ ~.

N

44 Whn,h one oflhc followmf_, is lhc 3rd dn(l

47.

-6th planets in the solar system?
A. Earth and Jupnu

a8 Mars and Uranus

g & Vcnus and Neptune

D f‘;nh d.nd Salum :

T

45 Wluchom 0{thefoﬂowmgonnsiﬁemsxm

isNOT correctly matdwd with ﬁ.s wmml

Cmeastre? A % :
Type ol’erosion c-(iiiﬁfolmcasfwé !
A. Splash ~ planting tall trees -~
B. Rill ~making terraces

- C. Sheet. f planting cové’r ¢rops

-.15‘ Gullcy _buxldmg pomu;, ddm\

o 46 W iud,'l one ot the iel:lowxm. nmhods oI food

pn,sm ation isboth moduu and: trddltmmW
AL Using low tempe mtun,s LA e '
15 Canning e

. Using honcy
1). Smoking

The diagram below shows a set- up mccl ln
c_!c;nm’xﬂtr:xtc acertain aspect of mafle

“Burding

'dWater yapour g

T-Glass bottle

-%-"-Cold water

- - .__4.-' : 5 r.‘. P
Charcoal '

. What aspectof matter was LIKFLY tg be
investigatedin carrying oul the exper 'mcut ¢!
A, Conduction in solids
B, Condraction

. Condensation in-gascs
D, Condensation n liquids

tin liquids

"™

-
? %



48.

B, LandM ' o R
o l\andM S T e e
D T andK e
49. 1he following activities were earried out by
standard six pupils to demonstrate refraction -
oflight. . ‘ :
Group I: Formation of a rainbow
against a wall
Group iH: {lashing a torch onan object
et against a wall o
Group HI: Immersing a rilee slantingin
' o a /m/’/fu/l'glaﬁ s-of clear water
Group IV: bmkmg a jerrycan in d poo[
. of waler
‘Which group of pupils did NOT score the
- mark?
A. Group |
B. Group |l
¢ Group 1
D. GrouplV
50, Which one of the followjng methods of

“temiperature? ¢ < SR

Which two processes fmmthe"]lﬂstratibﬁ
below will require one to increase

N

Liquids, - -

A4

Ligiidse

3 T

weed control is the MOS'T dtLCltvu Us€ 01l

‘a. seedbed?

A. [)u_-:s_nngoul

B. Uprooiing

C. Use of chemicals
D. Slashing

g

- $TOB001 SCIENCE 2016 -
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Do any necessary rough work in this booklet.
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A. March to May .
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D. December to February

The correct answer is D
On the answer sheet:

iAHBHCHDl IAHBHCHDI IAHBHCHDI tAHBHCnOn IAHBHCHDI
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PART 1: SOCIAL STUDIES

TAKU AREA
7

Scale: 1cm represents 10km
KEY

%ﬁ Ei Eorasl F.S Food store Murram pit

< ,
E"SCH School V.S Veterinary station CH County headquarters
FV Fishing village DE:ID Permanent buildings C.F Cement factory
. Ny
D.O District officer |* . *  Settiements \*\)( \Sub-county boundary,
e '
¥ ¥ Sorghum (ST Stadium LDE  Cattle dip
Yo o Tea O Quarry Y {~ River and a bridge

o




Study the map of Taku area and use it to answer

questions 1 -7.

1.

What is the general flow ot river Chalui?
A.East to West.

B. South West to South East.

C. West to East

D. South East to South West

The MAIN cconomic activity carried out in
Taku area is

A. Cash crop farming

B. Fishing

C. Trading

D. Mining

Which one of the following statements is -

NOT true about Taku town?

A.ltis a port.

B. It is an administrative centre.

C. [tis an agricultural collecting area.
D. It is a recreational centre

The North Eastern part of Taku area is
LIKELY to be

A. cool and wet

B. hot and dry

C. hot and wet

D. cool and dry”

Which one of the following types of fish is

NOT likely to be caught in L. Taku?
A. Tilapia

B. Dagaa

C. Mackerel ‘

D. Nile perch

Taku area is LIKELY to be a
A. Sub-county B. County
C. District D. Division

Which onc of the following statements.
BEST explains the population distribution in
Taku Arca?

A. The population settlement is linear

B. The area is sparsely populated

C. The area is densely populated

D. The population is clustered '

8.  Which one of the following lakes is the ODD

ONE out?
A. L. Bilisa B. L. Katwe
C. L.Ngozi D. L. Shalla

9.  Which one of the follo'wing is a role of the
community in school development?
A. Assigning teachers duties.
B. Employing of teachers.
C. Donating land for the school.
D. Appointing prefects in the school.

10. Which system of administration did the
Belgians use in Belgian Congo?
A. Assimilation
B. Indirect rule
C. Association
D. Directrule

11. Which one of the following African countries
is NOT land locked?
A. Swaziland
B. Burkina Faso
C. Malawi
D. Gabon

Use the map of Africa to answer questions
12 -15

12. Which one of the following countries
experiences the climate indicated by letter

P?
A. Chad B. Cameroon
C. Zambia D. Mali

STD 8 001 S/S 2016



13.

14.

15,

16.

17.

18.

Which one of the following is NOT true about *

the winds marked X? They

A. cause cool and wet conditions in
north-eastern Africa.

B. blow from the hot and dry Arabian
sub-continent.

C. pick moisture as they blow over the
Red Sea.

D. cause dry conditions in north eastern
Africa.

Which is the MAIN function of the dam and -
lake formed along river S? '

A. Provision of water for domestic use.

B. Generation of H.E.P.

C. Providing water for irrigation. *

D. Controlling of floods '

The city marked K is LIKELY to be
A. Rabat

B. Tripoli

C. Algiers

D. Tunis

N —>{ Griqua

v

Ovambo

Which one of the following is the BEST
option for letter N?

A. Herero B. Basuto

C. Xhosa D.Swazi

Which one of the following was NOT a

benefit of interaction among communities in

the past? ¢

A. Conflicts and cattle rustling from
neighbouring communities.

B. Creation of good relations between
communities.

C. Exchange and enrichment of cultures.

D. Promotion of interdependence among

communities.

Which one of the following BEST explains

-why the Niger Delta, the Tana Delta and

Lambwe valley are sparsely populated?
A. The areas are covered by thick forests.
B. Presence of tsetseflies and mosquitoes.
C.Instability due to civil wars.

D.Water borne diseases such as bilharziz.

19,

20.

21,

22,

23.

Which quality of marriage will lead to a
reduction in the deaths cdused by HIV/AIDS
if applicd by most couples in Kenya today”?
A. Tolerance

B. Love

C. Faithfulness )
D. Respect

Which is the MAIN reason why the
government encourages protection of natural
forests in Kenya? To

A. preserve areas for research and study.
B. put a check on desertification.

C. preserve tourist attraction areas.

D. preserve water catchment areas.

Which one of the following factors led to'the
migration of the Bantu from Congo forest?
A. Religious conflict

B. Search for water and pasture.

C. Search for land for cultivation.

D. Attack by hostile neighbours.

The following are conditions favouring the

growth of a certain crop in Africa: '

i) Well - drained and fertile volcanic soils.

ii) Well distributed rainfall of between
1000mm and 1500mm.

iii)Cool temperatures

iv)High altitude of between 1500m -
3000m

The crop described above is LIKELY to be

A. Pyrethrum

B. Cocoa

C. Cloves

D. Sisal

Which one of the following effects of
colonial rule in Eastern Africa affected
Africans positively?

A. Introduction of western education.

B. Division of communities

C. Over exploitation of natural resources.
D. Neglect of craft industries.




. 24,

25.

26.

7.

Which one of the following rivers does NOT
have an estuary?

A. Congo

B. Senegal

C. Limpopo

D. Niger

. —
Compressional forces

Which one of the foliowing mountains was
NOT formed through the process shown
above?

A. Drakensberg

B. Pare

C. Cape ranges

D. Atlas

When is the summer solstice experienced in
Africa?

A. December 22™

B. March 21*

C. June 21"

D. September 23

(i) He prophesied about the construction

of the railway in Kenya.s

(ii) He was a medicineman.

(iii) He took part in the long distance
trade giving advice to traders who
wanted-to succeed in business.

(iv) He died in 1904

The traditional ruler described above is

A .Masaku

B. Koitalel Arap Samoei

C. Mekatilili wa Menza

D. Wéiyaki wa Hinga

29.

30.

I3

28,

Which one of the following does NOT qualify

one (o be a Kenyan citizen by birth?

A. A person born outside Kenya whose father
is a Kenyan citizen at the time of birth.

B. A person born of Kenyan parents in Kenya

C. A child of eight years or below who is
found in the country and whose parents
are not known.

D. A person married to a Kenyan citizen for
atleast seven years.

Which one of the following is the MAIN

means of protecting' children against child

abuse in Kenya?

A. Educating the society about the need for
chiid protection.

B. Providing counsclling services to victims
of abuse. '

C. Giving stiff punishment to child abusers.

D. Providing medical care to victims of
abuse.

The fishing method shown above is known
as’- - :
A. trawling

B. net- drifting

C. longlining

D. purse-seining -

Which one of the folloWing factors does
NOT promote peace in the society? '
A. Equal distribution of resources.

B. Respect of the rule of law.

C. Denying people their rights and freedom
D. Listening to other people’s opinion.
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32.

34.

36.

The following are different aspects of culture. .

Which one needs to be preserved?

A. Use of traditional foods such as cassava
and millet.

B. Wife inheritance

C. Female genital mutilation

D. Encouraging forced and arranged marriages

Which is the MAIN benefit of floriculture in

Kenya?

A. The farmers get money from the sale of
flowers.

B. It leads to employment.

C. Flowers are exported to earn the country
foreign exchange.

D. It has lead to development of
infrastructure in flower growing areas

The coastal area near Axim in Ghana
receives heavy rainfall as compared to Accra
which receives less rainfall. This is due to
A. distance from the sea

B. shape of the coastline

C. relief and altitude

D. winds

Which one of the following lists consists of
exports from Sudan?

A. Coffee, tea, sisal, diamonds.

B. Petroleum, sugar, livestock, cotton.

C. Flowers, fish, vehicles, salt

D. Copper, cotton, sugar, hides and skins

The following describes th.e parliamentary

electoral process in Kenya. Which one is

the first step towards conducting a general

election?

A. Nomination of candidates by political
parties.

B. IEBC announces the election date.

C. Delivering of election materials to the
polling stations.

D. Dissolution of parliament.

37,

38.

39,

40.

41.

Who among the following African leaders was

"NOT a founder member of O.A.U? -

A. Nelson Mandela
B. Ben Bella

C. Haile Selassie

D. Kwame Nkrumah

Which of the foilowing weather instruments is
NOT correctly matched with its weather
element?

A. Barometer - air pressure

B. Hydrometer - humidity
C. Anemometer - speed of wind
D. Thermometer - temperature

The MAIN reason why South Africa is

- highly industrialised is

A. cheap power

B. government policy -

C. presence of a wide range of minerals
D. availability of cheap labour

Which one of the following gives the BEST

description of a constitution?

A. A system of ruling where people choose
their leaders.

B. The state of belonging to a particular
nation or country.

C. Changes in the rules that govern a group
of people.

D. A set of rules or values agreed upon by a
group of people which governs
relationships within the group.

The time in Tulimani 40°E is 10:30a.m. What
is the time in Katanga 28°E?

A.11:18a.m.

B. 9:42a.m

C. 9:42p.m.

D. 11:18p.m.




42,

43.

44.

45.

46.

i) The trees in this zone grow close
together: '

ii) Most of the trees have shallow roots

iii)The floor of the forest has little or no
undergrowth.

iv) Trees have tops that join to form a
continuous cover or canopy

“v) Trees have large and broad evergreen

leaves.
The vegetation zone described above is
LIKELY to be
A. Tropical grassland
B. Mediterranean vegetation
C. Tropical rainforest.
D. Mountain vegetation

Which one of the following dams is NOT
among the Seven Forks scheme?

A. Kindaruma B. Kiammbere

C. Kamburu D. Kariba

Which one of the following consist of people
who reacted in a similar way to colonial rule
in Africa? :

A. Samori Toure and Kabaka Mutesa [

B. Lewanika and Nabongo Mumia

C. Oloibon Lenana and Mekatilili wa Menza
D. Nabongo Mumia and Samori Toure

Which one of the following was NOT a

* traditional form of educating the young in the

society?

A. Story - telling

B. Observation and imitation

C. Apprenticeship

D. Arithmetic and composition writing

The following pupils in Kakima Primary
School were asked to name areas where one
can cross a busy road on foot:

i) Kimani - In a roundabout
ii) sMbuvi
ii)Maua
iv) Dominic - Zebra crossing

Which pupil gave the CORRECT and safest
area to cross a busy road?

A. Maua B. Dominic

C. Kimani D. Mbuvi

Foot bridge
Sharp bend

47.

The MAIN function of Nairobi city is that

A. it is home to international bodies like
UNEP.

B. it is Kenya’s administrative centre.

C. it is a commercial centre.

D. it is the main industrial town.

48. The arm of government that is incharge of

49.

50.

enforcing the law and punishing law-breakers
is the

A. Parliament

B. Executive

C. Judiciary

D. Cabinet

The capital city of Africa’s smallest country
15

A. Moroni
B. Victoria
C. Algiers

D. Mbabane

The Tukolors, Fulani, Wolof and Serer belong
to one of the following groups in West Africa.
Which one is it?

A. West Atlantic

B. Afro-Asiatic speakers

C. Kwa speakers

D. Mande speakers

Study the map below and answer questions 51 -

54

51.

The town marked O is
A. Wajir

B. Moyale

C. Garissa

D. Mandera
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38,

56.

(¥ /]

The game reserve represented by letter P is
A. Malka Mari -

B. Kiunga

C. Boni

D. Dodon

Tourists are MOST likely to visit the area to
the East of Lake T to see

A. Beautiful scenery

B. Wildlife

C. Sandy beaches

D. Warm climate

™~

The mincrai mined at the part represented
by letter Q is ri

A. Fluorspar

B. Diatomite

C. Limestone

D. Soda ash

i) They were hunters and gatherers
ii) Decisions were made through a
CONSEensus.

iiijThe believed in the existence of God.

iv) They spoke with click sounds
The people described above are the
A. Khoikhoi

B. Xhosa

C. San

D. Bambuti

Who among the foilowing leaders is an ex-
officio member of parliament?’

A. Speaker

B, Clerk of the National Assembly

C. Chieiiusiice '

D. Presider

- Which ane of the following areas is NOT

asscciated with oil refining in Nigeria?
A Licsa Sieme

B. Kadving

C. Abuja

D. Warri

58.

59.

60.

Which one of the following tourist attractions

are found in Morocco?

A. Pyramids at Giza, Valley of Kings, Nile
Cruises,

B. Victoria falls, Hwango National Park, 1..
Kariba, '

C. Kruger National Park, Tablec Mountains,

Robben.Island. ;

D. Ancient town of Marakech, Sandy
beaches, Berber villages.

Who is incharge of elections at the
constituency level?

A. Presiding officer

B. Returning officer

C. Polling clerks

D. Party agents

The MAIN problem facing sisal growing in
Kenya and Tanzania is

A. competition from synthetic fibres.

B. harsh climatic conditions

C. corruption in sisal farms and markets

D. inadequate capital to put up sisal plantations




PART I1: RELIGIOUS EDUCATION

SECTION A:

CHRISTIAN RELIGIOUS EDUCATION

61.

02.

63.

64.

65.

. ____beings.

66.

According to Genesis story of creation,

which one of the following statements is

NOT true about man?

A. Man was made in-charge of al! God’s
creation.

B. God made man to be like himself.

C. Man was not cast out of the garden of
Eden.

D. Man disobeyed God and was chased
away from the garden of Eden.

“Do you not know that your body is a temple
of the Holy Spirit? *1 Corinthians 6:19. Who
among the following disobeys this scripture?
The one who:

A. Uses her body sexually to earn money to
assist her sick parents.

B. Does things that are pleasant before God.

C. Serves in the church out of love

D. Serves God by taking care of the widows

and orphans.

The following are effects of alcohol abuse

Which one is NOT?

A. Causcs blindness

B. Making wise decisions

C. Destroys brain cells

D. Interference of judgement

One of the following is NOT a form of sexual -

misuse. Which one is it?
A. Polygamy B. Incest
C. Adultery D. Fornication

Which one of the following is the covenant
that God made to Noah?
A. God would increase the hfespan of human

B. God would destroy people with floods.

C. God would save Noah and his family from .

floods.
D. God would never destroy people with
floods again.

According to I corinthians 6:9-10 the following
groups of people will not enter the kingdom
of God EXCEPT

A. drunkards, thieves, idol worshippers.

B. adulterers, homesexuals, immoral

C. faithful, obedient, moral

D. greedy, slanderers, witches

67.

68.

69.

70.

71.

72.

73.

- 74.

What was the MAIN reason why Cain was
pumshtd by God?
He told God he was not his brother keeper.
B He killed his brother Abel
C. He sacrificed farm produce instead of a
lamb.
D. He was jealous of his brothers

According to I Samuel 12:1-6 prophet _
was sent to warn king  of his sins by God.
A. Nathan, Saul

B. Elijah, David

C. Nathan, David,

D. Elisha, Ahab

During the Exodus the Israelites complained

to Moscs because

A. snakes were biting them.

B. they were being attacked by the
AmalekKites

C. they lacked water to drink

D. they wanted a king

Which one of the following events took place
at the time Jesus was born? ,

JA. There was counting of people.

B. John was baptising people in R. Jordan
C. The Jews were fighting the Gentiles
D. The Jews were celebrating the passover.

Which one of the following parables of Jesus
teaches on repentance and forgiveness. The
parable of the

A. musterd seed

B. prodigal son

C. good samaritan

D. sower

The following are effects of sexual misuse.
Which one is NOT?
A.- HIV/AIDS

- B—Stress—and dcprcss10|1—~"--~_—-— e S

C. Early marriages
D. Joy and peace

“Come follow me, and | will make you fishers
of men” Mark 1:17 Jesus said these words to
A. John and James

B. Peter and John

C. Simon and Andrew

'D. Philipand Nathaniel

What was Jesus doing in the temple at the age
of twelve when his parents found him? He was
A. talking to the Jewish teachers of the law.
B. talking to Simeonand Anna

C. chasing away traders

D. healing the sick people
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73,

76.

T1

78.

79.

80.

81.

82.

83.

Three of the following are reasons why

Christians regard abortion as a sin, which one

is NOT?

A. Abortion is violation of God’s
commandments,

B. Itiskilling of an innocent life.

C. It disregards human diginity

D. It helps one get a good husband

Which one of the following prophets
prophesied about the birth place of Jesus
Christ?

A. Isaiah
C. Jeremiah

B. Micah
D. Joel

When Judas Iscariot hanged himself after
betraying Jesus, who among the following
people was choosen to replace him?

A. Matthew B. Philip

C. Mathias D. Barsabas

According to Jesus’ sermon on the mountain,
who will inherit the earth? - .

A. The peacemakers B. The meek

C. The pure in heart D. The merciful

According to [ Corinthians 12:1-11, which one
of the following is NOT a gift of the Holy
spirit? .
A. Faithfulness
C. Faith

B. Prophecy
D. Wisdom

Which one of the following books of the Bible
is WRONGLY matched with its category?
A. Amos - Prophetic B. Leviticus - Law
C. Joel - Poetry D. Judges - Historical

According to the Apostles creed, what does

the Catholic church mean?

A. A place where all members of Catholic
church meet to worship.

B. The universal church

C. Congregation of believers and non-
believers

D. The church that was started by Pope.

Which one of the following was the BEST way
of sharing drinks with ancestors in traditional
African communities?

A. Worshipping God

B. Visiting the shrines

C. Pouring libation

D. Offering burnt sacrifices

Which one of the following is the MAIN

reason why children were greatly valued in

traditional African communities?

A. They ensured continuity of family lineage.

B. They used to help with household chores

C. They were source of wealth for the
parents. .

D. They would take care of their parents
during old age.

84,

85.

86.

87.

88.

89.

90.

The MAIN reason why moral values were

taught to the young people in the past was

to

A. help them avoid laziness and idleness.

B. teach them the culture of their
communities.

C. help them get well paying jobs.

D. teach them 1o be responsible adults A

Omar is a standard cight boy, who boarded a
matatu but the tout forgot to ask him for the
bus fare. Omar just kept quiet and pretended
that he had paid. Which one of the following
christian values did he-lack?

A. Kindness

B. Honesty

C. Humility

D. Faithfulness

Kimathi refuses to work and says that work

is tiring and makes him dirty. As a Christian

what is the BEST advice that you would

give him?

A. Tell him to employ somebody to work for
him.

B. Tell him to rest and rely on his relatives.

C. Tell him the importance of work.

D. Report him to the chief.

The teachers pen is taken by one of the
pupils. Kelly is accused of taking it. He
mentions Ken because he does not like him.
Which one of the following commandments
did Kelly break?

A. Do not accuse anyone falsely.

B. Do not use God’s name in vain.

C. Do not covet

D. Do not commit murder

Mohammed finds two of his friends fighting,.
He separates them and asks them to become
friends again. Which one of the following of
Jesus™ commissions was he following?

A. Go ye and make disciples.

B. Blessed are the pcacemakers.

C. Blessed are the pure in heart.

D. Love one another as I love you.

Which one of the following was NOT found
in a mission station started by missionaries?
A. A church

B. A school

C. A restaurant

D. A Health center

Who among the following people was the first
missionary in Kenya?

. Michael Wood

Dr. Livingstone

Ludwig Krapf

. John Rebman

CO®>




SECTION B:

ISLAMIC RELIGIOUS EDUCATION

61.

62.

63.

64.

65.

66.

67.

Surah A-Tiin mentions three places where holy
books were revealed. Which holy book was
revealed at “Al-Baladil Amiin™?

A. The holy injiil '

B. The holy Taurat

.C." The holy Qur’an

D. The holy Zabur

The non-believers among them the
Associates and people of the book never
made sense of the present divine civilization
untill there came to them a clear evidence in
form of

A. aprophet from Allah

B. an Angel from Allah

C. a miracle from Allah

D. ascripture from Allah

Which of the following is a description of the

people who will be punished in “Haawia”

Hell fire according to Surah Qariah?

A. Those who like backbiting and scandal

mongering.

Those whose weighing scales will have

just little righteous. '

Those who neglected the commands of

Allah on Ibaada. .

. Those who earn from prohibited sources
of income.

B
C.
D

Which of the following events happened in the
year 570 A.D of the Islamic history?

A. “The attempt {o destroy the holy Kaaba.
B. The meeting of the christian Monk Bahira
C. The open and public mission of Islam.
D. The attempt to kill the prophet (p.b.u.h)

In the Surah Al-Kauthar the prophet (p.b.u.h)

was ordered to
A. read in the name of Allah,

"B. warm people starting with close relatives

C. mind about his neighbours.
D. pray to Allah and sacrifice

According to the prophets hadith, all these
things can take people to paradise EXCEPT
one. Which one?

If you have the true fear of Allah.

If your last words are ol Kalima.

If like the teachings of the prophet.

If always do the righteous and good
behaviour.

oo®E >

“Pray to Allah as if you see Him, and if you
don’t see Him, He sees you”. This is a pillar
of

A. Imaan B.
C. Religion D.

[hsaan
{slaam

68.

69.

70.

71.

Tos

73,

74.

T,

Which one of the following things is NOT
among the things named in the prophets hadith,
that Allah (s.w) hates?

A. Sinful acts

B. Waste of the wealth

C. Idle talk

D. Too many questions

“Look for knowledge open if it is in China”™
In this hadith the prophet meant

A. the best knowledge in China

B. for one to be civilised, should have China
knowledge.

search for knowledge the furthest it can
be found.

D. China is the furthest people could go

C.

Which of these fardh prayer has Sunna
Qabliyya and Baadiya praycers alongside it?
A. Asr

B. Dhuhr
C. Maghrib
Isha

D.

In which pillar of Salaat is Tashahhud recited?
A. Qiyam
C. Rukuu

B. Julus
D. Itdaal

There are three prayer items supplicated on in
the dua said after ablution. Which one is NOT
among them?

A. Forgivencss ol sins

B. Cleanliness

C. Good servant-hood

D. Wisdom and understanding

Which one of the following is a measure of
amount of water in the Islamic Sharia?

A. Dhirham

B. Shibr

C. Qulatein

D. Kifla

Which of the following words, when uttered

they renew the Imaan of an Islamic believer?

A. Laailaha illallah Muhammadan rasuulu llah

B. Laa haula walaa Quwwala illa billahi.

C. Inna Lillahi wa Inna ilaihi raajivun

0. Sub-hanailah Wabihamdi, Subhaana Liah
al-a’dhiim.

Swaum is deniai for the sake of Allah. Who
among the following ladies had a Swaum ol
speech?

A. Amina bint Wahab

B. Khadija

C. Zuhra

D. Mariam bint Imraan
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78.

79.

80.

81.

82.

L

What is Tagwa?

A. Reliance on Allah

B. The fear of Allah

C. The servanthood to Allah
). The witness of Allah

The attribute of Allah “Al-Muswawwir” means
that Allah (s.w) is the
A. Ali knowing

C. Designer

B. Al-mighty
D. The gatherer

The Atiributes of Aliah are in a branch of
Tawhiid known as

A. Tawhiid A’gida

B. Taw hid Asmaa Wal Siifaat

C. Tawhiid Uluuhiyya '
D. Tawhiid Rubuubiyya

The following are miracles performed by

different prophets of Aliah,

i) Speech language of every creature.

i) Inhalled life in s nodel of a bird

iii) Got a camel out of a rock

iv) Received trays of food divect from heaven.

Whose prophet is his miracle not mentioned? -

A. Nabii Daud (A.S)

B. Nabii Suleiman (A.S)
C. Nabii Issa (A.S)

). Nabii Swaleh (A.S)

o

Which etiquette phrase would you teach an
Islamic child to be saying as he/she comes
out of the loiiet from ealls of nature?

A. Astaghfiruliah  B. Al-hamdulillah

C. Ghufranaka

The prophet-adviced muslims saying, “Think
before you act aver any decision” By-this he
meant

A.. uUse your COmmon sense

B. have self control.

D. al! deeisions we make are hard

On ldd-ui-Hijja day we wake up-and remain
fasting untill we finish the Idd prayer. This is
hecause of fast of

A. Achnra B. Ramadhan

C. Arata D. Adh-ha

Which of'the following is NOT among the four |

months’ol Ash-hurul Hurzum?
A. Shawwaal

B. Muharram

. Dhul-Hijja

D. Rajab

D: Bismika Allahumma

every man has equivalent.® .

84.

86.

87.

88.

90.

12

M

The acceptance expected from the Bride,
bridegroom and the guardians before Nikah
Union exercise is called

A. Walii

B. Walima

C. Mahr _
D. Qabul - ST N

By the hadith of the prophet, the action most
acceptable before Allah after performing
Swalalh is

A. treating pcople with special needs well.
B. doing good to parents.

C. Visiting and praying for the sick

D. following and carrying the dead coffin

The prophet (p.b.u.h) said that having a bad

friend is like sitting ncar

A. a bomb that can explode
B. a perfume man

C. ablacksmith

D. hell fire

Who among the grand fathers in the prophets
ancestry was the custodian of the holy Kaaba
before the advent of Islam?

A. Abdul-Mutwallib

B. Haashim

C. Quswayyi

D. Abdul-Manafi

Though the prophet (p.b.u.h) was born poor,

Allah made him rich by '

giving him prophet-hood.

marrying him to lady Khadijah

making him the most trusted man.

. giving him some employment among the
Qureish.

oSow>

assurances
A. five
B. seven
C. three
D. one

People who never accepted Nabii Nuh’s
preaching also neglected his invitation to a safe
place from the Adhaab of Allah (s.w).
Which Adhaab?.

- A. Very strong whirl wind.

B. Thunder storm noise.

C. Heavy rains and floods.

D. Hail stones.
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Read the passage below. It contains blank spaces numbered 1 - 15, For cach blank space,
choose the BEST alternative from the choices giveh. :

There is 1 anything in life that can be 2 successlully without
proper planning. In a school, examination :, more preparation than any other
4 . A student 5 wants to score 6 marks niusi

be diligent for all types of questions which k. be set. A good student knows this and
8 , starts revision 9 early because it is 10 that

on cach day, a student learns something new.

Itis, 11 . never too late to start going __ 12 your work. You also
need plenty of rest to keep 13 away. This helps to create a comtortable space
14 your mind. Taking a shower has a way of refreshing 15 ~_the

body and the mind.

1. A hadly B. usualiy C. always . frequently
2. A, solved B. cleared C. done . sorted
3. A creates | B. requires _ C. uses D. controls
4. A thing B. work C. sport ). activity
5. A\, whomn B. that _ C. who . which
6. A most B. high ;. more - .. . much

7. . might B, will C. should D.  would
8. . cven B, otherwise C. turthermorce D. thus

9, A, s B, very C. 1o D. as

10, \. thought B decided : C. known D. believed
Y. A however ' B. morcover (. whatever D. more so
12, A around B. over C. into D. across
13. A, hunger B. energy C. stress D jokes
14, A of B. C, D. for

£5. A all B. ecither C. both D. neither



For questions 16 and 17, choose the alternative
that BEST replaces the underlined word.

16. The students assembled fast when they

heard the bell.
A. grouped
B. gathered
C. came

D. linedup

17. The clouds moved very slowly across the
sky.
A. flew
C. covered

B. spread
D. dritted
For questions 18 to 20, choose the alternative
thot BEST fills the blank spaces.
18, Hadtheguests  ontime, the party
would have ended before evening.
- A, arrived :

B. arrives
C. amiving
D. arrive

19. The police arrived at the accidentscene fast,
didn’tthey?
A. No, they did
B. Yes, theydidn’t
C. Yes, theydid
D. No, they didn’t

20. Rose can’t win a one-hundred metre race
and o SESRERESSEEE
A. ncither can Joyce
B. even Joyce also
C. Joycetoocan’t

D. nor can Joyce

For questions 21 to 23, choose the sentence
that means the SAME as the underlined one.

21. Had Kasai campaigned harder, he would

have won the elections,

A. Kasai won the ¢lections because he
campaigned harder.

B. Kasai did not win the elections so he
had cumpaigned harder. ‘

C. Kasoi campaigned harder although he
still did not win the clection.

D. Kasai campaigned harder in order to
win the elections.

wd

22. “1visited my grandmother yesterday.” said

Lena.

A. Lena said that she visited her
grandmother the day before.

B. Lena said that she had visited her
grandmother the previous day

C. Lena said that she had visited her
grandmother that day

D. Lenasaid that she had visited her
grandmother yesterday.

23. Although Festo was very tired, he hardly

slept that night.

A. Festo had very little sleep that night
although he was very tired.

B. Festo decided to sleep very little as
he was very tired.

C. Festodid not sleep at all although he
was very tired.

D. Festo wanted to sleep very little but
he was very tired.

'lnr»_q&esi'iuns 24 and 25, choose the sentence
that is CORRECTLY puncituated.

24. A. “Youwillonly be punished.” Said the
teacher,” if you come late.”
B. “You will only be punished,” said the
teacher. “If you come late.”
C. “Youwill only be punished,” said the
teacher, “if you come late.”
D. *You will only be punished,” said the
“teacher, “if you come late.”
25. A. Many pupils usually obey school rules.
Don’t they ?
B. Many pupils usually obey school
rules. don’t they?
C. Many pupils usually obey school
rules, don’t they?
D. Many pupils usually obey school
rules. Don’t they?
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Read the passage below and then answer questions 26 to 38.

Once upon a time there was a weeding up the sky, whcrL anumber of animals lived ,just as on carth.
The bride and groom invited all animals, irrespective of where they lived. Those who lived down on earth and
had wings obviously had advantage over the others. Those without wings therefore had a problem at hand
before being sure of attending the wedding and: among those in problems was Tortoise. He was heavy, had no
wings and unless airlifted by a bird, we would not attend.

‘Tortoise loved partics. He loved cating and anywhere food was, be sure Tortoise would find his way
there. It was while he was mulling over his predicament when he saw Vulture land just next to him. The two
were friends because both liked food and knew where best to get food and so when Tortoise shared the
information he had with his friend, Vulture was more than happy to provide Tortoise with much neaded flight
to the sky. However, Vulture asked Tortoise to keep his promise on two things: Tortoise would ensure he got
cnough food in return and secondly, Tortoise would not eat too much otherwise carrying back would be hell.

The two friends reached the wedding venug earlier than most guests. They were ushered to the place
rescrved for guests. Tortoise, instead of sitting like Vulture and other guests who had arrived earlier, started
walking gbout in the home and mmglmg with workcns He was of course, a very good orator and Vulture
thought he was just doing ‘what he liked best. Ina short time, he was alrcady at the lutchen and even before the
wedding was on, Tortoise had caten more than enough.

The wedding was splendid and lots of f00d was broughl but before the eatmg could start, Tortoise
sent Yulture for spices and these could: only be found on carth. Vulture flew down and although he shuttled
very tast, he returned to find all the food finished. T herc was cven no need for the spices because there was
no food left and even there was, 'lorlmsc was too satisfied to talk. He motioned Vulture to throw it away if he

so wished. ' . ' :

Vulture could not perscw ere the pangs of hungcr He walked around the homestcad and found some
left-over porridge which although he tried his best to eat, his own beak could not cnable him do so. Hungrily,
he left and urged Tortoise that it was time to return home.

Tortoise was still too tired to move so Vulture patiently waited and when all other birds had flown
down, he became angry and threatenedsTortoise that he was leaving him behind. Being too satisfied and tired,
Tortoise dragged himselfand although he was groaning about the pain in his stomach, Vulture flew him down
in silence. When they were approaching their home, Vulturc made a fast swop and Tortoise slipped off his
back. With a loud thud that was heard several miles away, Tortoise fell down and cracked his shell!

Had itnot been for the skill and experience Squirrel had, that would have been the end of Tortoise and that
too, marked the end of the friendship between the two animals, «




26.

Why were some of the animals invited to

the wedding worried?

A. They did not want to attend the
wedding. '

B. They lived on carth, far away from the
sky.

| ‘Cv. They did not know how they would

27,

28.

29,

30.

31.

reach the venue of the wedding
D). The day and time of the wedding was
_ inconveniencing to them.

The problem that was preventing Tortoise
from attending the wedding

A. was self-caused

B. were multiple

C. could casily be avoided

D. were due to his past behaviour

Why was Tortoise very determined to attend
the wedding?
A. They were rare and more so in the
sky.
B. There would be more tood than
where they lived.
C. Heliked the challengcs thatit brought.
D. He knew what to expect once there.

Tust before tortoise saw Vulture,

A. he was indilemma over the journey.

B. he had known: whOm to approach for
transport.-

C. he had decided not to attend the
wedding afterall.

D. he had realised birds onearth would
not be useful.

What do you think made Vulture to agree

to carry Tortoise to the wedding?

A. The distance was not that far.

B. The two of'the shared similar trait.

C. Tortoise was not as heavy as others
thought.

D. Tortoise would ensure Vulture ate
more than him.

Vulture told Tortoise not to eat too much
and ensure that he too got enough food. This
statement can be described as

condition

rules

resolutions

decisions

cow»

32,

33,

34.

36.

., i

38.

Why do you think did the two friends reach -

the sky earlicr than others?

A. They were to help in making wedding
arrangements.

B. Tortoise was light and therefore
Vulture found it easy to fly fast.

C. They had been instructured to be
there as early as possible.

D. Each was eager to get a lot of food at
the venue.

What positive attribute did Tortoise have that

made him likeable?

A. He could eat various types of food.

B. Travelling to far places was like a
hobby to him.

C. He was good at speech to any
audience.

1. Making triends with othcrs fast.

When Tortoise sent Vulture for spices, it was

because

A. Tortoise could not eat without spices.

B. The guests at the wedding needed it
urgently.

C. Vulture was supposed to have carried
| A

D. Itwasto stop Vulture from eating. *

35.

Why did Vulturc bececome angry and

threatened Tortoise after the wedding?

A. He realized no food had been left for

him atall,,

The wedding had ended but Tortoise

was still eating

C. He was hungry and still had a task
ahead,

D. He had been asked to fly Tortoise

away from the venue.

=

Vulture flew Tortoise down in snlmce
because he was
A. exhausted

C. hungry

B. disgusted
D. determined

The fall of Tortoise from Vulture’s back was

A. because Tortoise was too satisfied to
balance well.

B. due to Tortoise’s hurry to land on the
ground.

C. asaresult of Vulture’s speed to the
ground.

D. anintentional move by Vulture.

Atlast,

A. Squm'cl treated Tortoise after the fall

B. The friendship between the two
animals ended

C. Tortoise shell got cracked badly.

D. Tortoise slipped accidentally as
Vulture descended.
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Read the passage below and then answer questions 39 to 50.

There has been a lot of discussion on increased cancer risk with the consumption of red and processed
meat. The International Agency for Research on Cancer, the cancer agency for World Health Organisation;
released a study that links consumption of red and processed meat to increased cancer risk.

However, this does not come as a shock to many since studies have long established it. The agency
just reviewed scientific literature of more than six hundred studies that had been carried out; in order to
provide dependable scientific evidence on increased cancer risk with the consumption of such meats. The b g
question is: Is consumption of red meat bad? Should we completely stop consuming it?

Itisimportant to note that there is a difference between red meat and processed. Red meat is any
flesh from mammais with no treatment to preserve or improve flavour, for instance beef, pork, mutton and
lamb. Processed meat can cither be white or red meats whose original form has been changed through
salting.smoking, curing or other methods to improve their flavour or shelf life.

Processed meat include bacon, ham, sausages and hotdogs. Red meat can be an important component
in our dict. It provides the body with essential rlulriems some of which are more casily absorbed in the body
than those from plant sources. Red meat contains lu gh value protein and essential mlcro nu’mcnts for growth,

health and development.

Unlike plants protein, rud meat comalns dll amino duds thal cannol be pxoduced in the body and have
to be met through dlelary intake. On averég cooked meat contaxf;, '237 graras of prmem per every 100
grams. This protein is hxghly dlgestlble more than some fonn of plant prou.ms i B
Just like other ammal foods, red meat is an exccllent source of. vitamin B u)mplex which is only found
in foods from animals suchas mcat, thus, those who do not consume dmmal produc ts oﬁen may suffer vitamin

TR S

B12 deficiency. Iron i 1s an cssentnal nutnenlm prgductlon of red blood cells new bc dy”cglls and hormones and
red meats are among the best known dietary sources of iron. They contain plenty .d.f heme iron, a form of iron
that is absorbed better and with ease as compared to non-heme iron which is mostly found in plants. Red
meat also contains significant amounts of zinc in a form that is readily absorbed in the body. Red meat is not
entirely unhealthy and it can clearly be beneficial if consumed in reasonable amounts.

What must be controlled is the frequency and quantity of meat intake. It should be reduced to about
50 grams per serving; avoiding eating it on daily basis but eat more of plant sources of proteins and white
meats. Before cooking, trim visible fats and avoid frying and rely on steaming and stewing instead of quitting

cating red meat.

)



39.

40..

41.

42.

According to the first paragraph,
A. consumption of red and processed
meat causes cancer.

B. the risks attributed to consumption of

red and processed meat are false.

C. red and processed meat consumption
is the only known link to cancer.

D. there might be some truth linking
consumption of red and processed
meat to cancer.

I'he study released by the agency of the

World Health Organisation

A. leaves a lot of doubt on effect of
consumption of meat.

B. has found the link between cancer and
the consumption of meat baseless.

C. suggests that consumption of meat could
risk one’s health.

D. has been talked of severally without a
solution.

Why is the relationship between cancer and

the cause not a shock to many people?

A. Farlier studies had revealed the same
outcome.

13. Nobody has come out clearly about the:

outcome. )
C. It has been proved to be inaccurate.
). Many people were already awarc of'it,

What should be done about the

consumption of red and progessed meat?

A. Consumption should be stepped
completely.

B. The frequency and quantity consumed
should be reduced.

C. Alternative sources of protein should
be uscd instead.

1. More discussions should be held on
the risks it poses.

43.

44.

43.

46.

47.

The MAIN difference between red meat

and processed meat is that

A. Nothing is done to red meat and it
comes from mammals. _

B. Red meat is red in colour while
processed could be white or red.

C. Processed meat is from pork or fish but
other mammals produce red meat.

D. Red meat cannot be processed while
processed ones pose cancer risks.

When one dries or smokes beef for future

use

A. the cancer risks it poses reduces
drastically.

B. its value increases just as the cost does!

C. itretains the same state as it was before.

D. it changes from red meat to processed
meat.

What are the MAIN advantages of

processing red wat?

A. Their red colour discourages some
consumers.

- B. The {lavour and shelf life changes.

C. The colour ofthe flesh changes.
D. The taste and quantity of the meat
reduces.

Why should stopping the conswnption ofred

meat posc a health risk to an individual?

A. Studies have shown that non-
consuiuers of red meat erow stowly,

B, Meat is the casiest iype of food to get
in a home.

C. 1t provides high valuc protein and
essential micro-nutrients.

D. The consumers would have very litte
alternatives to take.

[t would be healthy to cat red meat because

A. itcan be cooked in small guantitites

B. the value is higher than that ef
processed meat.

C. itdoes not contain any cancer risks.

D. itishighly digestible.
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48. Both vitamin B complcx and iron

A.
- B.

C.

D.

arc mostly Jounc inred meat.
can be found in red, proc:ssed meat -
and someplants,. :
are: essential in production of ied blood
cells.

cannot be /ound in processed meat.

49. What does the writer conclude on the
consuraption of red and processed meat?

A.
B.

C.

D.

It i very safe to consume both of them.
The reports do not clearly indicate the
danger it poses.

Their consumption is not as bad as we
are made to believe,

Nobody can become unhealthy
because of consuming red meat.

S50. The BEST title for this passage would be

A.
B.
C.

D.

World Health Organisation report on
red and processed meat. %
Effects of consumption of red and
processed meat. ;

The dangers of eating red and
processed meat.

Sources of cancer in human beings.
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SOMA KWA MAKINI MAAGIZO YAFUATAYO
. Umepewa kijitabu hiki cha maswali na karatasi ya kujibu. Kijitabu hiki kina maswali 50.

2

ikiwa utataka kuandika chochote ambacho si jibu andika katika kijitabu hiki.
3. Ukisha chagua jibu lako lionyeshe katika KARATASI YA MAJIBU na wala sio katika kijitabu hiki cha
maswali.

JINSI YA KUTUMIA KARATASI YA MAJIBU

4. Tumia penseli ya kawaida. -

5. Hakikisha ya kwamb& yafuatayo yameandikwa kcmka karatas: ya majibu:
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majibu. g

7. Usitie alama zoz.ote nje yawnsanduku o : e % [

8. iweke safi haratasi )ako va majibu. . ) t

0. Kwakilaswali 150 umepewa majibamanne. Mdyba havo yameonyeshwa- kwaherhﬁ A, 3, CnaD. Nijibu
MOJA tu kati ya-hayo manne ambayoni-sahihi. Chagua jiburhilo. I

10, Kwenye karatasi va majibu. jibu sahihi lionyeshwe kwa kuchora kistari katika ktsanduku chenye herufi
uliyochagua kuwa ndilo jibu.
Mfano
Katika kijitaba cha maswali:
11. Andika wingi wa: Mpira huu ni wangu.
A. Mipira hizi ni zetu.
B. Mpira hizi ni zangu. |
>, Mipira hii ni yetu.
). Mipira bit ni yangu.
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Katika visanduku \'inq\/yoonyesha majibu va swali namba 11. k -anduku chenye herufi C ndicho
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11 Chora kistari chako vizuri Kistari chako kiwe cheusi na kisijitokeze nje ya .'sanduku.

12 Kwa kila swali. chora Kistari katika kisanduku kimoja tu kati ya visanduku vinne ulivyopewa.

Kitabu hiki cha maswali kina Kurasa zilizopigwa chapa

Watahiniwa ni lazima wahakikishe kuwa kurasa zote za Karatasi ya
mtihani zimepigwa chapa sawasawa na kuwa maswali yote yamo.
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Soma vifungu vifuatavyo. Vina nafasi 1 mpaka 1S, Kwa k:la nafasi umepewa majlbu manne
/wpo Chagua jibu lifaalo zaidi kati ya yale uhyupewa

Vltd dhidi ya ufisadi si 1 kuachiwa serikali pekee. Ni 2 sote

kuungana mikono 3 uovu nuu. Tusiwe na imani 4 kuwa viongozi

ndio 5 kujitahidi kuyazima maovu ya aina hii. Jc ’ "6 umewabhi kutua‘l';idogo

et

na ¢ ni kiasi g g,am cha pesa hutolewa kama 8 na wananchi wa kawaida

ili watimiziwe haja zao?

1. A ya B. wa . C. vyaa D. za

2. A jukumu yetu B. dhimayetu TG wajibu wetu D. juhudiletu

3. A. kuyaangamiza B. kmiangamiza:i ~C. kuiangamiza D. kuuangamiza

4. A. potovu Bpoioka“ ( “*Ci")o"tos'hi’" “ D. potea

5. A wanapasw%"‘fﬁ-, = .B. wanqyopas__\.y:;;l . C. wanaopasiwa - B wanaopaswa

6. A.; ; B. 5 ' b ?

7. A komssil : :r B. - . kunisaili

8. A. rushwa E»’ B. ¢ B karadha
Mapuuza hakfuona umuhxmuw 9. wa ehmu Moyomahysadih%kuwa 10

mali yote ya wavydie wakc Kwake yeye aliona __ 11 ya pekee banma yake na mali hayo

ilikuwa umri tu. Mapuumhak-eguaknwa IQ mah ya waw)ek,\w ydsmgemxltm Mtihani

wa kitaifa ulipofanyika 13 kwa alama duni. Wazazi wake 14 kwa hamaki

wakitaka kujua 15 uzembe wake huo. Hapo aliona fedheha na kuahidi kubadilika

9. A. yoyote B. wote C. yote D. wowote

10. A. atayaridhi B. anairithi C. angeyarithi D. alirithi

11. A. kikwazo B. pingamizi C. kizuiz D. kosa

12. A. mtumaichanduguye B. mtegemeanundu C. bura yangu D. jogoo wa shamba

hufa maskini haachi kunona sibadili na rehani hawiki mjini
13. A. alivutamkia B. alikula mwata C. aliibukakifua D. aliona cha mtema
mbele kuni
14. A. walimbembeleza | B. walimsihi C. walimkaripia D. walimdekeza
15. A. ukweli ya B. kiini cha C. sababu cha - Db mambo ya |

N




Kuanzia nambari 16 mpaka 30, Jibu
kulingana na maagizo uliyopewa.

16.

20hi;

17.

18.

19.

20.

21.

22.

23.

- B. Dawa ya moto ni moto.

Chagua orodhg,«,mayolmgana viguri.

- C. Walinijia kwa uxshaun wa kimasomo

24.

Tambulisha sentensi iliyo katika hali timilifu.
A. Ningwemwona nyoka ningeshtuka. ’

C. Akichelewa hataliwahi basi la shule. 25,
D. Chakula klmekaangwa klkzmngua l
Sentensi ipi imetumia k]VumlShl cha sifa.
A. Mgeni amevalia sharti jeupe.

B. Mti huo una tunda jingine.

C. Kabati lote timejaa bidhaa. 2 6
D. Mkono wake umeumia vibaya. y
Ipi ni silabi?
At
C. tha

A. Pumu, Llfeiduto mﬁchcld N&We
B. Plau, f\ukeo munsdu bhoka
C. Rinda, gagulo,muga, bali~ "
Lk Klblgm() ini, muundj achela

Tambulisha * kwa }naYO(myesha umlhkajl g

A. Zumari nhpuhzwai(wa nguvusana.

B. I“uhpollfca kwake hatuknwc:?a—
KuUmWOoNa. B o st sapmiaine s

D). Bahari haivukwi kwa kiperea.

Saa 6:40 kwa maneno ni

A. saa saba kasoro dakika ishirini.

B. saamoia kasorobo na dakika ishirini.
C. saa sitana dakika arubaini

D. saa moia kasoro dakika ishirini.

29.

Mtu akitwikwa majukumu yaliyo zaidi ya
uwezo wake bila shaka humlemea.

Chagua methali inayowiana na maelezo haya
. Kichwa cha kuku hakistahimili kilemba.
B. Mzigo wa mwenzio ni kanda la usufi.

. Kobe haumi mguu wa chui.

. Kuku mgeni hakosi kamba mguuni.

30.

[pi ni nomino ya dhahania?
A. Jembe B. Kula
C. Ushujax 1). Marashi

(O]

Maelezo yapi ni sahibi
A. Halati ni dada wa baba.
B. Mwamu ni kaka wa mume.

- C. Mkoi ni mtoto wa shangazi.

). Wifini kaka wa mume.

Toa na doa kasa na kaza ni mfano wa
vitawe

vitate

vibadala

. visawe

SOow>

Kinyonga ni kwa uvivu kama ilivyo barafu
kwa e

“ 'regqaki.acndafwiﬁ:kifﬁmacho; '
2 Hutafm'la lld hamezi r

" A. Mwalimu® dsiponlona hakuniita.

B. Mwalimu hakuniona wala kuniita.

-, Mwalimu hajaniona wala kuniita.
. D. Mwalimualiponiona hakuniita. -

Tuliwanunua samaki wengi kando ya ziwa
lile kihusishi ni kxpu"

A. lile

B. kando ya

C. wengi

D. ziwalile

Kitenzi legea kinatupatia sifa
A. legevu

B. legeza

C. ulegevu

D. kulegeza
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Soma kifungw kifuatacho kisha ujibu maswali 31 - 40

Jamaa walioishi naye katika mtaa wa Urumo walishangazwa na utaratibu wake wa kazi. Mchana
kutwa alishinda chumbani mwake. Mara nyingi utamkuta ametulia tuli akitazama runinga yake ndogo.
Wakati mwingince angekuwa akifanya kazi zake ndogondogo akipiga mluzi bubu, ambao haukusikika
vizuri. Wakati mwingine angekuwa akiusikiliza muziki kwenye chombo chake kilichotingisha jenge zima.

Kwa kawaida alitoka nyumbani jioni. Waliomj ua walimchangamkia kutokana na uchangamfu w%kc
Alipenda sana mizaha. Waliopenda kupiga soga walivatiwa na maongezi yake hasa kuhusiana na magari,
Aliyajua magari mengi.

Ilifika wakati ambapo kampuni kadhaa ziliamua kuwapunguza wafanyakazi wake kutokana na
hali mbaya ya kiuchumi. Lakini Bwana Sesame hakuwa mmoja wa hao. Hali yake ilibakia vilevile.
Akiendelea kuvalia nadhifu na kuishi maisha yake ya fawaishi.

Siku moja Bw. Sesame alitoka jioni kama kawaida na kuelekea kwenye shughuli zake za kawaida.
Siku h1yo jamaa mmOJa wa mtaa.m ahkumbdna nqye k.w;mc ldl‘I},O kuu. “Nina shida kidogo, sijui kama
Sole. “Nini tena" "Kiluhza Bw. Sesame, Nma gdn Jangu ambalo halina
ndfuu alisema. Bw Sesame allmwangafi’a r;a k;:s» ma, “Hiyo ni kazi

redio. Nal_afuta m

kwangu papai kwa " ik hscmd gw Scs*_._ ' lghnka laman,‘wle akshuku;l. na wakaag:mu
Bw. Sesame 2 o
kumfuata kwa mba
kuu kuu. Muda si :7 ki
jamaa aliwafuata h ' pahpokuwa na uua-mwembdmba uhoachana n&barabdra kuu. A]l)lﬁCha

mahali na kutokana

wakaifungua mllango ya garl mblo na kupvurumxsha nﬂam Gari hlmmuhwa kama risusi kuelekea upande
wa pili. Wakati huo yule jamaa ashaliangalia gari lenyewe na kuzihifadhi nambari zake. Alishika njia
kurudi zake chumbani. :

Siku iliyofuata Bw. Sesame alikwenda kumkabidhi mwenzake matilaba yake. Mara mlzingo
ukabishwa. Yule jamaa akaelekea mlangoni. Mlango ulipofunguliwa waliingia askari polisi wawili. Bw.
Sesame hakuwa na upenyu wa kutokea. Alitiwa mikononi. Hakujua kumbe jamaa yule alikuwa kachero.
Hapakuwa na ujanja tena. Siku hiyo pwangu alipata pwaguzi.




-

31. Utaratibu wa Bw. Sesame uliwashangaza
wakazi kwa kuwa
A. Hakufanya jambo lolote mchana,
B. Alitazama runinga mchana, -
C. Alienda kazini majira ya jioni.

18 D. Hakuenda kazini asilani. ..

3i. Kwa nini chombo cha esame
kinasemekana kutingisha jengo zima?
A. Kilikuwa kikubwa
B. Kilitoa sauti kubwa
C. Kilikuwa cha bei ghali
D. Kiliimba usiku kucha

33 .
makala ni

B. mcheshi, agampe wa na wote,
C. mchapakazi mbalify

" D.
34.

oy

mpole, nicr!' ak
Kulingana na f aya
A.

B. ne a
ulipodidinga. & Seessesenm..,,

Maisha ya Sesmie yalimarika zaidi
uchumi ulipozerota; ¢ amaeEnssy,
hali mbayﬁ.wmﬁ- oo ST FO

kupoteza ajira,

C.

D.

Jamaa aliyekutana na Sesame alitaka

A. kuibiwaredioya gari |,

B. kuupima ujuzi wa Sesame

C. kupeleleza mienendo ya Sesame.

D. kuandamana na sesama kazin; mwake,

3.

36.

Msemo ‘papai kwa kijiko’ umetumika
kuonyesha

A. Jambo rahisi kutekeleza.

B. Jambo gumu kidogo tu.

C. Jambo lisilowezekana asilani.

D. Jambo lisilo na uhakika

- 37. Lengo lo kuvalia maguo ya ajabu ajabu
lilikuwa lipi? i

A. wasiweze kutambulika

B. kuwatisha wanawake,

C. kuwaogofya wakazi.

D. mavazi yao yasionekane.

Mwanamke yule alikuwa windo rahisi kwa
vile ’

A. aliogopa akakosa lakufanya.

B. aliwekewa kizuizi barabarani.

C. gengela Sesame lilimfahamu vizuri.

D. garilake lilikuwa dogo sana.

38,

Sifa za Sesame zinazojitokeza kwenye @

39, Jina Jingine lenye maana sawa na kachero
i-dlfl'* "

A. jasusi -
B. mamluki 2
afg

A Tttt wa ot i
: B *Mgaagaa Ea upwahali wali mkavu.
weCrMbiowg sakafuni huishia ukingoni.

D. Mazoea pam@(wﬁ, kijiko.
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Yasoma makala yafuatayo kisha ujibu maswali kuanzia 41 — 50

Uwezo wa kuyakumbuka mambo ni hazina kuu kwa mtu yeyote yule aliye hai. Uwezo huu ni
mojawélpo ya shughuli chéngamano za ubongo. Ubongo wa mWanadamu3hu§ékelczg"shughuli hii kwa
namna tatu. Kwanza, ubongé hunasa jambo kisha kulihifadhi. Baadaye huaﬁzisha mfumo wa kutoa
kilichohifadhiwa. Ubongo ukxathmka kwa namna yoyote katlka mopwapo ya njia hizi bastuwezo ya
kuyakumbuka mambo huvurugika. L TR AT, s ol

Ingawa inaaminika kuwa uwezo wa kukumbuka hurithishwa katoka kizazi kimoja hadi kingine,
wataalamu wa masuala ya kiakili wanabaini kuweza uwezo huu unaweza kuxmanshwa Ulmdrlshdjl huu
huhitaji mikakati madhubuti.

Njia mojawapo ya kustawisha uwezo wa kukumbul\a ni kupitia kwa lishe, Vyakula vilivyosheheni
vitaminiB vyenye amino asidi husaidia kwmansha uwezo wa kukumbuka. Vyakula kama hivi ni mboga,
nyama (hasa maml) bldhaa za soya, matunda ‘maziwa, bidhaa za ngano, samaki pamoja na mayai,

ustawishajihi gm vile vyenye-madlm yachuma. Madinihaya huwezesha

usambazaji wa hewa kmk. ubongo kwa wcpesx Vyakuld ambavyo vina madini haya ni mboga za
kijani, mawele, dengu soya?matunda kama magmbe, ufuta (simsim) pamow fia maml na mayai.
Njiaya pm mvkupaga mamfuk&vxleo Kama pombe na mkgum Vlleo hgw huathm utaratibu wa
kunasa kuhifathi na kutoa yaliyo ubor e W
' fwapo mtu dﬂ@‘a@o a kuyakumib i muhlmu kufanya mamen ya kusikiliza
kisha kurudia majmﬁmyh f wa?ﬁzungaﬁgo N@akmﬁhﬁﬁshaj ina nia- su:a ya mtu. Kwa njia hii
"ubongo utanasa nakihusishina na krle klhcholengwa Sote 8 E mel®
‘Woga na ku\)lirugakaﬁwakxﬁ’m mambo meng,métﬁnayopaswa kucpuka knl,a wakau N1 kawaida
mtu kupata woga wakaﬁ apokabﬂwambuasﬂokuwammh@hka na matgkeo yake kama mtihani au
mahojiano. Lakini WMMMI Woga huo dsﬁdﬁk'cimpakana kumvm'uga kiakili. Vurugu
hizi huathiri kilichohitadhiwa ubongoni na pia namna yakukitoa.

Halikadhalika, mwili wenye siha nzuri huhakikisha kuwa ubongo ni timamu. Wataalamu wengi wa
siha wanakubali kuwa mazoezi ya kunyoosha vnungo hustawisha ubongo na hivyo kuhakikisha kuwupo
kwa uwezo wa kukumbuka mambo. Ni muhimu kuwa na ratiba ya kunyoo';ha viungo kila wikati.
Fauka ya hayo, mazoezi ya kiakiti kama vile kusoma makala )anayavuua, kUJ aza mraba na michezo
mingine kama mafumbo, vitanza ndimi ni muhimu katika kustawisha uwezo wa kukumbuka o

Jamii yenye watu wenye uwezo wa kuyakumbuka mambo ni jamii 1hy0p1 ga hatua kubwa
kimaendeleo. Ni jukumu la kila mmoja kuimarisha uwezo wa kukumbuka kila wakati.



41.

42.

43.

44.

45.

46.

Kazi ya ubongo kulingana na makala haya

A. kuhifadhi, kupokea, knkumbuka, kutoa
kilichohifadhiwa.

B. kutoa kilichohifadhiwa, kukumbuka,

» rvkupokea, kuhifadhi. PR

C. kukumbuka, kuhifadhi, kupokea, kutoa

- kilichohifadhiwa.

D. kupokea, kuhifadhi, kutoa
kilichohifadhiwa, kukumbuka

Kulingana na aya ya pili
A. watu wengine huzaliwa na uwezo mzuri
wa kukumbuka.

48.

B. mtu anaweza kukabidhiwa urithi wa =

kukumbuka.
C. mja hawezi kuba;dih uwezo wakc wa:
kukumbu [;
D. kizazi ha
kukumbuka.
I
Lishe bora, f
A. ndicho chanzo Oha kuya:kilmbuka
mambo yat

B. lazima |wcmamboga, mdlundananyama. 1
(. ina mchango wa, kuboresha uwezo war 4

kukumhuka

D. nighali sax;_é kwa mt.uAvevotn I\uzmgam' o

Vyakula vyenye madini ya chuma ni muhimu

kwa

A. kuwa na wingo wa amino asidi.

B. kusambaza hewa katikaubongo.

C. kuongeza idadi ya chembechembe za
ubongo.

D. kunenepesha mwili na kuwa na nguvu.

Vileo ni hatari hasa kwa

A. kudhoofisha viungo vyote mwiiini.
B. kulemaza utaratibu wa ubongo.
C. kuwafanya vijdha kuacha shule.
D. kufanya watu kukonda sana.

Mtu anaweza kufeli mtihani rahisi ikiwa

A. ataufanya akiwa na wasiwasi.

B. atakosa kupewa lishe bora.

C. amekaa sana bila mitihani.

1. mtihani unamhitaji kukumbuka mambo.

*na,uhumano na uwezo wa :

3 49. 1

"47. Chanzo cha‘woga kulingana na aya ya sita

m "

A. kushtuliwa kabala ya mitihani na
mahojiano.

B. kuvurugika akili kabla ya mtihani.

C. kuweka malengo makubwa kabla ya
mtihani.

D. kutoelewa matokeo ya jambo
yatakavyokuwa.

Wingi wa neno ubongo ni
A. mabongo '

B. mbongo

C. bongo

D. ubongo

Msemo upi una maana ya kujaribu
kukumbuka?
A. Pu,dfalakl

e B. (\TE hanga bia. .
T, twasira

M’*ﬂahilm ;

’\/Iaclezo yapi Sl qahnhl !

oA Kujaza miraba huidmmha ubongo

mazoezi.

“Bo-Watuswenye uwezo wa kukumbuka

‘huendelezataifa. |

C. Mazoezi ya viungo humwezesha mtu
kukumbuka.

D. Mtu alaye lishe
kukumbuka yote.

bora huweza
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MATHEMATICS Time: 2 ho.urs

READ THESE INSTRUCTIONS CAREFULLY

1. You have been given this question booklet and a separate answer sheet. The question booklet contains 50
questions.

[0S

Do any necessary rough work in this booklet.

3. When you have chosen your answer, mark it on the ANSWER SHEET, not in the question booklet.

HOW TO USE THE ANSWER SHEET
4. Use only an ordinary pencil.

5. Make sure that you have written on the answer sheet:

YOUR INDEX, NUMBER
YO,UR NAME

NAME OF Y@’UR SCHOOL

’ -

6. By drawing a dark hlnelmsuie the correct numbered: boxes ark your full Index Number ( e School Code

-figure €andidate’s Number)/jn the g of the answet stiget.
2 & & N o2 o= [
%
b 1eltef€:§ AB C:ﬁ’;and D. In each case

ATk

b £ 30,

R O R

10. On the answer sheet?the comect Answer is to be ‘shown by drawmg a dark Iinems:de tﬁe Hﬁx in which the lener

Example .“

In the th.onrﬁﬁ&‘ﬁd

14. Jakovo boughta V. se: icr 31 500 on hire purchase. He paid a deposit of 7 500 and the rest in 15 equal
monthly instalments. How much was each mstalment?.

A, sh. 160 T
B. Sh. 1600

C. Sh. 2 160

D, Sh 210

he correct ar.lswf‘r is B (Sih. 1 600)
Ot the answer sheet:
A“BHICID wciD Plaeicn EYasco IRaoscoo
i1 the set of boxes numbered#4, the box with the letter B printed in it is marked.
{1, Your dark line MUST be within the box.
{'or each question ONLY ONE box is 1o be'marked in each set,of four boxes.
't'his question paper consists of 8 printed pages

Cundidates should check the question paper to ensure that all
the pages ave printed as indicated and no guesticis are missing.

R aynaon Temaann bl Mg Tomath N NG % TR
v s ' e .. _— -
001 2o feouma Publishers & Edsivalion Boosters Liu, 202 Q000253 516,020221 7038, D701 Sd 8758 070420781 TURN OVER

J




~ and three thousandth?

¢~

Whi'ch of the following numbers is two 7. The figure below shows Onyangos piece of
hundred thousand two hundred and two ~ land. :

A. 200 202 003 ' 23m
B. 200 202 3000 o >
C. 202 200 003 35 gt
D. 200 202 0003

e

Round off the sum of 34246 and 356245 >
to the nearest ten thousand. 25m
A. 390 491 '
B. 390 000 _ ‘ ) K )

C. 400 000 If t'he area is 288m’ find the perpedicular
D. 390 400 height x.

A. 24m

B. 48m

C. 2m

What is the value of
4(0.87 - 0.4%) +0.32 + 0.08
A. 9.76

s T L

-~

; . If the
't is 20cm what is

12, 18 and 24

12
A 72 &
B. 3 3]
C. 75 = ;
D. 69 E eSSt | ,
= “éFhe prieg.of a pair of trouser was shs. 500.

It was later decreased in the ratio 4:5,

Carol closed school on 20" November
2015 and opened school on 5" January what was the new price?
2016. For how many nights did she spend A. Shs. 500
at home? , ‘ B. Shs. 400
- A. 46nights C. Sh. 100
B. 47 nights ; D. Sh. 450
C. 48 nights _ . iy
D. 45 nights 10. Find the next number in the pattern,
35,8, 13,20,
A rectangular water tank measures 2.1m A..29 .
by 1.8m by 0.5m. How many litres does B. 33
the tank hold when half full. <. 31
A. 945 litres D. 37
B. 1890 litres
C. 1.890 litres davel
D. 3 780 litres

o




11.

12,

13.

14.

13.

]

What is the value of - | 16. Chepng’eno is a sales agent who earns a

5 d J 15% commission on the value of goods
5(2)’ * 4)+ 6=10 she sells. In one month she earned a
commission of shs. 30 000. How much was
the value of the sales?

; » A. Shs. 170 000

\ : B. Shs. 150 000

C. Shs. 4 500

D. Shs. 200 000

o oWy
Fe A L) =

Which of the following sets of 1 1 1 3 .1
measurements will not form a right angled 17. Work out 1'3'0f Z+5+ZX3§
triangle?
A. 7,24,25 1
B. 12, 16, 20 A.3—
C 815,17

D. 5,12: 15

o sl

of 50 cabbages:af«:

Onyango boughta

sh. 20 each. %
transport. W i
make if he so 2
A 20% ‘

B. 25%
C. 33, %"
D. 30%

._
[}
G| R AR AL
i a
w
e
78
o
g
o
-
=]

Kibet bought @ c¢
getting a 20% dise F
cow making a proﬁt of 20%. How much F&
did he sell the cow?

A. Shs. 25 000

B. Shs. 18 000

C. Shs. 21 600 .

D. Shs. 24 000 BCD is an isosceles triangle. What is

the size of angle BED
Terry drove tor 3)4hrs at a speed of 60km/ . & 97

‘h. She rested for 2 hour and drove the - - B, 83°

remaining distance at a speed of 80km/h C. 470
for 3hrs. What was the total distance D. 36°
covered by Terry?
A. 210km
B. 240km
C. 450km
D. 140km
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19. On a map aroad of 9.6km is represented

by 8cm. What is the scale used?
A. 1:12000

B. 1:120 000
C. 1:1200000
D. 1:1200

Pupils at Nankokirding’a primary school
were given three packets of milk every
week. [fthe capacity of the packet is 2dl
and there are 240 pupils in the school.
How many litres do they drink in two
weeks?

A. 144 litres

B. 2 880 litres

C. 1 440 litres

D. 288 litres

The mass of an §mp,ty'rlorry is 3.75 tonnes. -}

The lorry wag loaded with 60 bags of

maize each wctighing 90kg and 25 bags of |-

total mass of the
A. 5400kgs £
B. 9 150kgs |-
C. 11025kgsf:
D. 7278.75kg§

beans each wegnin'g 75kgs. What was the

ey b 7

Which of the following statement is NOT

true about a rHombus= -

A. Has two pairs of parallel side

B. Diagonals bisect each other at right
angle .

C. All sides are equal

D. Diagonal are equal

Jamal deposited shs. 120 000 in a bank,
the bank gives a 5% simple interest. He
withdrew all the interest after 2%
years. How much money did he
withdrew?

A. Shs. 135000

B. Shs. 15 000

C. Shs. 6 000

D. Shs. 126 000

lorry and the load inkgs? -

24. The mea mark scored by six boys in a

mathematics test was 70. The marks for
four of the boys were 72, 73, 64, 75. If
the other two boys scored the same marks
how much did each of the remaining boys
score?

A. 68

B. 136

c N

D. 72

The figure below shows Kamaus piece
of land.

750m

200m

s "%a{js the area 0fth__e land in hectares?
A..150:000 ha

B. 15000 ha
C. 15 ha
D:-1500.-ha.

26. Tonv shared-atotal of shs.720 000 to his

three daughters Daisy, Doreen and Dorcas
in the ratio of 3:2:4 respectively. How much
more money did Dorcas get than Daisy?
A. Shs. 32 000

B. Shs. 80 000

C. Shs. 24 000

D. Shs. 6 000

Construct a triangle ABC such that line
AB=5cm, BC=3c¢m and AC=5.5¢m.
Draw a circle touchiriy; points ABC. What
is the diameter of thc circle drawn.

A. 2.8cm

B. 5.6cm

C. 2.6cm

D. 1.3¢m




28.

29,

30.

31

The temperature of a mass,ofice is -26°C.
The ice was heated until the final )
temperature was 75°C. What was the
temperature rise?

101°C

67°C

49°C

33°C

COowy

The diagram below shows an iscosceles
triangle whose perimeter is 36¢m.

Calculate the krea of 1e mangﬁ in cm’
A. 120cm’ :

B. 65cm* |
C. 60cm® |
D. 130cm®*

A lorry left Na!robl at 835 pm on Tuesday' 1

for Isiolo. If the j joumey took 17hrs 15min

32

33.

at which time and day d!d the. lorty,reac.h 3

Isiolo in Am/pm.

A. Wednesday 1.50pm
B. Wednesday 1350hrs
C. Tuesday 1.50am

D. Wednesday 1:50am ,

Brandon bought the following items from
a shop

3kg sugar @ shs. 95

4kg rice @ shs. 80

2:kg cooking far (@ shs. 140

4kg salt for shs. 80

3 bars of soap @ shs. 125

If he paid using 2-1000 shs. notes. How
much balance did he get?
A. Shs. 350
2 \h\ ]4]0
{650

)

34.

¢~

The table below shows the shoes sold per
size at Kitengela Bata shop in one week

Shoe size 31415 |6 718

Numbersold { 36{ 39| 39| 33| 48| 42

What was the modal shoe size sold that
week?

A. 42

B. 7

C. 39

D. 5

Which of the following is the correct
order of arranging fractions.

from the smallest to the

largest

P
-

NN Sl IS )

-

B P —

(Y
-
-

“
-

Wi Bl Wl e
N v bW oS

Sl s Old AL oju

Bl Wi

12 men can do a certain work in 8 days.
How man+ more days would the work
take il {0 men failed to turn up for the
work ?

A. 12 dav:

B. 8§ duax:

C. 4 duys

D. 16 days

STD 8 MATHS 0¢ " 20



35,

36.

37,

38.

é
I

The pie-chart below shows how Mr. Nkiyaa | 39. The marked price of a radio is sh. 16 000.

uses his farm of 144 hectares , i The hire purchase price is 25% more than
the marked price. Jasmin bought on hire
purchase paying a deposit of shs. 5 000
and the remaining amount in 12 equal
monthly instalment. How much was each
* monthly instalment.
A. Shs. 1 250
B. Shs. 15 000
C. Shs. 20 000
D. Shs. 1200

How many more hectares are used on | 40. Otoyo bought three times as many oranges

grazing than on poultry? as Cecilia, Ruto bought half as many
A. 34 hectares oranges as Cecilia. If Ruto bought 60
B. 58 hectares : _ oranges, what is the sum of oranges
C. 82 hectares , bought by three people?

D. 24 hectares “A-Sh=180-

ey, , B. Sh. 540
The area of ajsqudre |pi i C. Sh. 360
hectares. Mtok iy D. Sh
land using fougs iShe
length of the jff; i : € half a story book on
A. 1600m g ¥ B | : ' ofithe remainder on
B. 6400m £ & K é E\ % on Wednesday. If
C. 400m 8 ¥ B she read a totaf of ges on Wednesday

D. 3200m & | P i g, T, = HOWTHENPpage .d hat novel had?

Work out the :‘.'i

a’ +2c(a T-' R

D 180 pages

a+2b

[fa=4, b=5, ¢=3 42. During the Standard Chartered Marathon

A. 14 . the number of women who participated

B. 10 was 6480. If the number of men was half

C. 70 ‘ : that of women and the number of children

D. 5 was one thousand more that of adults,
what is the total number of people who

What is 2(3x+4y) — 2 (2x+3y) : participated in the event?

A. 10x+14y : A. 10720

B. 2x+14y B. 9720

C. 2(x+y) C. 20 440

D. 2x-2y D. 3240

> ' - HESIE 1




43.

P

44.

_C. Shs. 640

’

The table below shows the fare chargeda

certain route
J
70 K . e iXideiv
davidiorn
150 [ 60 | N0
210 | 130 80
M
280 | 200 170 80 N

Kamano and his two sons travelled from
Jto M via L. How much money did he
pay if the children are charged half the
fare.

A. Shs. 320
B. Shs. 280

D. Shs. 560

The diagram below

70m

Sanare ran ro
many kilometnes

A. 440m
B. 0.44km
C. 3080m .
D. 3.08km '
45. The table below shows the charges for
sending an inland money order
Value of the order Commission
Ordinary Express
shs. cts. shs. cts.
Upto 1000 95 00 120 00
1001 - 3000 150 00 190 00
3001 - 5000 230 00 295 00
5001 - 8000 280 00 330 00
8001 - 12000 320 00 390 00
12001 - 17000 390 00 430 00
17001 - 20000 435 00 510 00 |

46.

ey
piesar

48.

Ntapaiya sent one express money order
worth Shs. 17 500 and an ordinary money
order worth Shs. 500. How much money
in total did he pay at the post ofﬁce"

A. 790

B. 2t} 790

C. 24 000

D. 24 840

How many blocks are used to make the
stack below.

th}e,@lgbecanié’
capacity of the ta?\k”’When full"
A. 900 litres
B. 450 litres
C. 420 litres
D. 560 litres

Which of the following solid will be
formed by the net below.

A. Square based prism
B. Rectangular prism

C. Square based pyramid
D. Triangular pyramid
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49,

30.

METANCE IM KM

¢~

What is the value of'y in the inequality ;
14y +9 <41 - 6y?
A. y<4

3
B.y<l1= ‘ =
Y 5

1
Cy<6-—
Y 4

]
Dy<2—
iss

The graph below shows the journey covered by a motorist from town J to town K. After travelling
for 150km he rested for two hours and then continued with the journey.

4 = = = Raxma EmaEs Y6 B %
14T TTETT T l §
T T ‘; p ? ‘r i R Lf
- ’ — . - S i i,
35 0E T e e Ry e e e S amaes SRR Seed s
. : 1 I e ! E (Ii - ot H ;
i =t ) i 1 2 !
H e 20h 1 } &
r i : v 4 : : =
300t - —t - ~ v i s ‘
11 Ji: T».«_: : . 2 ——— B 11 1 L ! 2]
AR, o G100 TR TN (T S e e et S M o QPRI 13
6.00am &.00am 1C.00am 12.00noon2 00pm 4.00pm o.u0pm 8.00pm
TIME '
What was s speed atter the rest.
Sihnh
SRR
™™ g b
3




~You have 40 minutes to write your composition.

Below is the beginning of a story. Write and complete the story. Make your story as interesting
as you can. . : '

I was very excited when we staried the journey. All along, I had not believed it would be
ST TR '




Umepewa dakika 40 kuandika insha ;»alm. Endelea insha ifuatayo kwa maneno yako mwenyewe

huku ukiifanya iwe ya kusisimua zaidi.

Wazazi wa Kamaliza hawakuthubutu kumkanya lolote ..............cocoovevieveeren. s

B L ——
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